2 OLEH0I OISH Ol K] & AISS

2.2 OF&H&4! - Darcy-Weisbach 24!

o (A=A

o T HUIMO A, v=7, LAY,

|
—
b=
I
Ilh."
=
—

=

>
uio
10 <
H1
(@ ]

1. § 4 = SSSH0ll Uit MigolLt ZHE S 00X
EALOE, ZSRA U7 250l HE0l Jis.

2. A A2 BH UM S8 QONX HO] 20|l ¢ & SEE=
SOl 821 OrEsd =52 JJIE UHHY.




QHE0ll OISt Ol K| a5

e Darcy-Weisbhach 24!

2

=S5
o % A0IAM OEAs f= US1 201 HEAIZ = ALL
e
r-f(re ) [[0I=X %, AHET) ] B4
o HIY SO HOHM= R, =d/49 HHIE 01, 7 42
A g4 d
s R~
ETY4R, 2¢ d

9.17)  (9.18]




Al A T
— i

flio

JH OF SHCHAHA O S XH).

V2
Y
o OI&ENHI= I FAA 0122, 7 /p I 5E9] XA

23 5 SEQ| OIE&aAH==0f thet &8

=
1. OFE2&=F2] SHO IS AolM= 0D+ 1Ol 8
2. I]I**HI = dI0ISZ (RelQ S E(e/d)12 S+l
3. DRSS %’JI AMM= SSES X O HAE &
4. OIEAHI=2 S+ZH= 280l _IOHM agd

— =2 o =0 ;-

043




Nns Ws s a1l
FR <R dkzy Mo

= . = ...Hlnm_.._ — <k
CUL T %uo et
&5 Ol mM _ é)%

- =3l S
Jlyed Eg.umﬂﬁw
<> uAlmum.____wA_.mO 11
M wA_.wu__“wa_Hmfl_.
BT K1 <587 k1 BOME 04 O

0 .
B0 4 = 80 80 1 i AT 4 5
WFSESSssrIeTHL
Kio = 35 %) 75 o1 o1l FT 2055 25 o0

-— N o <
S~ 2 5
S 8 232 3
S o 3 88 8
= = = o oo O =
q L] | "— I m
.m@ r.MHi. ;_\ % h_,.__._ﬂ
I 4 \m\\\@ gt b / T
= §5= P N S 720 Ok WY A =
i L R | /H o R
5O /! =)
J 3 P AL R L A
T \.un_._np n_n.m. Wv . Tﬂn.FﬂHm —
(O S i —— <N
= SR vAS .
3 R A L ol
1/ kPl /& F A_l
o) AR Y 4F
»4 . =
s : —i =
Ol N <
go »..Fw - B
— 2, e ol
=L =
_._.O.
__-M__= LA gz 2
— = S
—F] e
= F “ - -
= ~—
—2xsgL T g oo = =
SsSss s 2 2 o= = =
nL S



2 00l OISt Off L4 XI é &5

OlHN XIS 30cm, OIS Hdl 100m, =5&& 1om & O, & S 10cm 20 E 20
HESHU BHUAM MFSHE 0ict

1. & SCEFH 10cm S XM C MEHESH

h 1000 x 15
7/Li‘: . x 0.1

21 2x100

= 7.5keg%/m” = 73.5 N/'m”

h 1000 x 15
ro=LLR=—"" 24015
2] 2100

=11.25 kgZ/m” = 110.25 N/m"



2 OFEH0]| 019t Ol X| & &5

Olx OIX =M OlM =it 20, 3 0.3m<03m=E HAIS B0 ZHOA O
HESHE 101k

vh,ab 1000 x15x 0.3x0.3

2(a+b)  2x100(03+03)

T —

0

= 11.25 kg%/m”° =110.25 N/m"




Py =250 kPa

d=10cm

Zl:0

o F 11 20iMe B2=7H0l 228E,

9800 N/m’ 9800 N/m’

[350><10 N/m’ J (250><103 N/m’ J
+0 |- +5m
—5









O A tH
T

dp _pr—p_Ap
d / !

_ Y
]

vh r
U = —4—ij (1 _F] (Hagen-Poiseuille S &)




S = =]
| =3
S S mx
= .
oi0 gl
=) 'S
ol ;2 o_____ TN _l_l
il ar oo om
= | oF ~I= o
o — = | oF
M ‘e 7| /tll\x ng
ol SIS i S =
o SF O OHM T mw
ok | 14| I 0l
0 I LH S e
| S 4ar Ko




hy, = S20| A0M DA MSEE BAQS0 Y
L= Vd d 2g (Z20] Q0IA O} ol HIdD
] V*
‘E‘TL = f —2— (Darcy-Weisbach 2!
ir

e Darcy-Weisbach 21} Hlul O™

al

r=O R0M oS
Re



CilAI) XIS 5cm@l =2k 0=08x10 m/sec 20| S|l UL 20| S M=
v=1.0x10"m?/sec & I} C+S AFZ0ll tHOH 0101t

(a) 10020 & & HHZI0] =AMl
(b) WA 2cm EHO{ X
(c) HEHOIMOl O SH™

) , - |
£ _ 0810 = 0.04] m/sec

o HOIEX =

Vd 0.041x0.05
Re = = X




f =22 -0.031
Re

ho= f L 0031200, 004
13 2 005 2x98

=0.0053 m =053 cm

OEEYE(ITE
o EIA 2cm WOIH ROIMO B

s

yh, > r’
U = R 1l——
4ul R’

2
:ﬂRz -
4pvl R’
~ 9.8x0.0053
4%1.0x10° %100

0.005°
0.025°

% 0.0257 (1 _

= 0.078 m/sec



~ 9.8x0.0053
4x1.0x10° %100

< 0.025° == 0.081 m/sec

(c) UM O2SH

h ,
To = yzf R = 0.00066 kg /m"~

= 0.0065 N/m>




Ol Xl ) XIE 0l 5cmQ! =T &l HI% I UBOI.T.!, a1 H
JIE0] Q=0.002m*/sec O] FHOZ & AULCL Ol 9.521 E2 AFZ %% -T'UIEI

(a) 10020 & & HHZI0] =AMl
(b) WA 2cm EHO{ X
(c) HEHOIMOl O SH™

V =Q=ﬂ= 1.02 m/sec

AT 005

o HOIEX =

OE81000 1 102%0.05
-—28 = 520
0.008




64 . 100 ’ 1.02°
Re 005 2x98

=13.07m

(b) =1t RS
o MHNA 2cm S0 20AM =

w2
4ul R’

_08x1000x13.07 [1 )

s

0.005°
4 % 0.008 x 100

0.025°

=196 m



~ 0.8x1000x13.07

- x 0.025° = 2.042 m/sec
4 % 0.008 x 100

(c] &HOIAMC] OrE

0l0

= |
=

yh, P 0.8 x 1000 x 13.07
LY B 2 %100

i
i

x 0.025

=1.307 kg &/m”

—~12.81 N/m"~




	슬라이드 번호 1
	슬라이드 번호 2
	슬라이드 번호 3
	슬라이드 번호 4
	슬라이드 번호 5
	슬라이드 번호 6
	슬라이드 번호 7
	슬라이드 번호 8
	슬라이드 번호 9
	슬라이드 번호 10
	슬라이드 번호 11
	슬라이드 번호 12
	슬라이드 번호 13
	슬라이드 번호 14
	슬라이드 번호 15
	슬라이드 번호 16
	슬라이드 번호 17
	슬라이드 번호 18

